f(x)=x>*-4x>+ax+b

= +2)(x-a) &FF2 5 A
B—ax® +2x-20=x>-4x>+ax+b
ca=4, a=2, b=-8
L 3a+b=-2




= A xof iote] 2x3-3x2—x+1 = a(x—1)3+b(x-1)2+c(x-1)+d
olgt & W, a+b+c+do G2

® 1 @2 @) @ 4 ® 5

B \
-3 -x+1=a(x-123+b(x-1)2+c(x-1) +d
x =25 HYst,
{2x (23} -(3%x2%)-24+1=a+b+c+d
La+b+c+d=3




TR () = o - 82 4 ke - 60] DA x- 22 irolEol Y ),
f(0)E x-12 e Ue a9
@_3 @ -1 ® 2 @ 4 ® 5

fx)=(x-2)0(x)

Z £(2)=8-1242%-6=0
k=5

f(X) X 3)6 +5x—-6

s f)=-3

~




e f(x) 8 x- 12 U me] YA 3013, x- 22 s we]
Ue Al Lot o] HhHAE (v— 1)(x—2) % L= we] LA E
ax+ b1 T W a+ bE FSHH?

® 1 @2 @) @ 4 ® 5

~&B

F(x) = (x=1)(x = 2)Q(x) +ax+b
f)=a+b=3, f(2)=2a+b=1
a=-2,b=5

La+b=3




5. x9 O@4 f(0)E x+ 12 4= b, Yo7t 20 o] o,
(x* —x+3) f (1) B x + 12 e YrA1S Fota?

@no @ 6 ® 0 ® 30 ® 12

B

f(-1)=2
(¥ =x+3) f(x) = (x+1)O(x) + R
x=-194

ZR=5f(-1)=5x2=10




20043 - 20033 - 1

o] 7Fe 1519
2003 x 2000 ) Ak O

2003 = x 2 7 2004 = x + 1

(x+1)32-x-1
x(x+1)

_ 3x(x+1) _3
x(x+1)

(& 4) =




= B ~
A®BEA®B: mal' ?—_-_]"m, (x®x2)+

5 o34 A, B thotod
5] SHH? (H, x# 0, x# 191 A4

(FP-x)e(x-1)=3t

@ -1 @1 ® 2 @ 3 ® 4

5 x? x? X
(x® %) = 2ox x(x-=1) T x-1
x—1
(FP-x)®(x-1) = G-D- (-
x-1

—(x2=2x+1)
_ (x=1)
—(x—1)2
1
:_x—l
(—2,—0133_@,): X 1 :x—l_1




2] f(x) = —ax+ b,g(x) = x2 + ax — 2b 9 H Y ZF5Tt
W, £(x). g(x) o HA&Fo5E FotA?

4

o
1

ne o_?_l‘.

=

O -2+ )+ @G-+ )+ 2)
® (-DE+12(x+2) @ (= (x+4x+2)

® (x-1)(x+4)(x+2)?

~&B

A5 2ol o] sH

fA)=1-a+b=0
g1)=1+a-2b=0
A-EolHAH, a=3,b=2

f(x) =x%-3x+2
Z YA L o] 85,




N

A FF7h x - 1, H2TEETE 23 - Tx + 6 ¢ F o] 2 TG4 <]
3}o9
Hi .

@ 2x24+x+3 @ 2x2+3x-1 @ x2-x-2

@QXQ—X—I ® x*-3x-2
B )

HAj st x - 10122

= AL Alx - 1), B(x— 1)

(A BX A2 40l 011}/\1) oz =0
¥ -Tx+6=AB(x-1)
(x-1)(x-2)(x+3) =AB(x-1)

" AB= (x-2)(x+3)

A, BE ¥ApAolojof stE 2

A=x-2 A=x+3
B=x+3 B=x-2
et F SHAL (x—1)(r2), (x—1)(x+3) Ik

- (5 ohaA e )
=x-Dx-2)+(x-D(x+3)=2x2-x-1

3l
rr




10. xof thsto|xX A = x2 +ax+b, B=x*>+bx+a & HHNFF+ G
7h x ol tit YA A+ B =G(px+q) @™, FTa+b+p+g
o] gr2?

@ -1 @0 ® 1 Q)z ® 3

B ~

G £ A+B,A-B 9 Q47T ot
A-B=(a-b)x—(a-b)=(a-0b)(x-1)
L G=x-1
Aol x=1H¢Y
l1+a+b=0,a+b=-
A+B=2x>+(a+b)x+a+b

=22 —x-1

=(x-1)(2x+1)
p=24q9=1
a+b+p+g=-1+2+1=2




- x) BRI f(2)E 27 - 4R e AR 204 1013, g(x) F
2= 5r4+6. 0.2 UHe Lol A x—40]ek. o] ul, (x-+2)f(x) +3g(x-+1)
2 v-22 e Uo7 S Thw?

® 7 @9 @13 @ o3

B

f(x) = (8 = 4)p(x) + 2x + 19014 f(2) =
g(x) = (x* = 5x + 6)g(x) + x - 4°Wg()
h(x) = (x+2)f(x) +3g(x+ 1)°]2t ECH,
h(x)E x - 22 Uz UYWA=

h(2) = 4£(2) + 3g(3) = 17




12, f(x) =33 -x+24 0, f(x+1) = Ax® + Bx> + Cx + D°|t}.

. A+B+C+ D2 Zk& F514H ?

@ 4 @ 14 (E§)24 @ 34 ® 44

8

=
AL

1) =Ax*+Bx* + Cx+ D o x =1 & H4stH
A+B+C+DolB=2

T5t7] flei =

33 —x+2°x=2F HdstH
3x28-2+4+2=24

NS

I

=

i Ta T T
\BV\I:D/\_/

B

x+1=r2StH,
f(t)=A@t-13+B(t-1)>+C(t-1)+D

113 0 2
2

1] 3

F

|
© o o L

1] 3

3|9
L A=3,B=9, C=8 D=4
L A+B+CH+D=24

W oW W W




13. ¥ +ax+b, x* +bx+a o HFFr7t x o AL o, &

HH/\I_(?
O (x-2)(x—a)(x-b) @ (x+2)(x—a)(x—b)
® (x+1)(x+a)(x+b) @ (x+1)(x—a)(x—b)

@(x— (x-a)(x-b)

of

B

2tax+b -0
2 +bxta- O

Q-© : (a-b)(x-1)

Q, © M a#bolB2 A4 x-10]eh
l+a+b=0,a=-1-b,b=-1-a

o] ff, @ x? ~(14+b)x+b=(x-1)(x-b)
O2x-(1+a)x+a=(x-1)(x-a)

714, a % b o182 x—a S r—p & A2 olek
webAl, FoHs HABHSE (x- 1)(x-a)(x- )




14.

—-a*(b - c) - b*(c

ol B 4 gl AL

@a+b @ 2a-2b
@ 2b-2c ® 0

® 2b-2a

a°l it Wdzte o= Aot
—-a?(b-c)-b*(c—a)—c*(a-b)

—b)a® - (c? = b?)a + bc? — b2c

- b)a® - (c - b)(c+ b)a + bc(c - b)

=(c=b)(a=b)(a=c)---Q
=(a=b)(b=-c)(c-a)--O
(b-c)b-a)la=c)---©
=(c-a)b-c)(b—a)---@®
QA A= BF A5 2a - 2b
O 1 AlE BE Ha o
€4 1 ATE B Hsel 25 - 2
@4 1 Alde 2 S5k 25 - 2




15. e () 4 (2) 1o am e sen
1000 1000
32 x 997° 32 x 997° 32 x 997°
O @ 10 ® - 10
32x 997 @ 32 %997
10
997 § 997 + 3

A Ao — 3 — & G HH — 10|22
Fold Al 1000JJr 1000 A<f 1000 ]

997 3
=—_ b=—,c=-10° ™

1000 Togr € = ~LoIFF st

a® + b3 + ¢3 - 3abe
= (a+b+c)(a®+b*+

a+b+c=0°] Hc}.
WA a+b+c=00]

2=

+c?—ab-bc—ca) oA @ +b3+c3 = 3abe

dZ o]-8ohH
drpae— (D) (B ) cpage
3abc = 3 x 1909070X103WX(_1)9}€22—E"
Foh g

3x% %x(_l):_ng_ogw




16.

A f(x) = 2% + 222 + px + ¢ 5 FFAg(x) = —x* + 2x + ¢
2 RS mjo) YA S Rx) 2t sk, g(x) o R(x) 7h x - 17HS
TEAFR 7P W, f(-1) +5(2) ] Gk TohE?

® -5 @ -4 3)-3 @ -2 & -1

f(x) = g(x)Q(x) + R(x) 1A

f(x) &F g(x) o] HHBFFE g(x) < R(x) & HhZoF

g(x) & R(x) & FEISTFx-10]2E

g(x) @ R(x) o] HHFFF7hx -1

- f(x) 2t g(x) @] HAFFETE x - 10]h
f1)=3+p+g=0 . pt+g=-3

gl)=1+g=0 .. g=-1. p=-2

o f() = P4+20 =211, g(x) = —+2x-1 f(-1)+g(2) =
2-5=-3




